@) Figure 1 shows a sketch of the graph of y = f(x). The graph bas a minfmum point at (-3, —4)
and iniersects the x-axis at the points (-8, 0) and (2, 0.
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ok {2j Skeich the graph of y = f(x + 3), indicating the coordinates of the stationary point and
the coordinates of fhe points of intersection of the graph with the x-axis. i3]

(b) Figure 2 shows 2 skeich of the graph having one of the following egunations with an
appropsiate value of either p,gor

7 = f{px}, where p is a constant
¥ =f(x) +g, where ¢ is a constani
¥ = rf(x), where r is a constant.
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